V:\Traffic Signals\01. Intersections\Harkness & River S-1838\02. Design\Preliminary_Harkness & River S-1838.dwg

DETECTION CONNECTION DETAILS TRAFFIC SIGNALS EQUIPMENT DISPLAY
N.T.S. HARKNESS AVENUE
QQNSTR' 'QT'QN NQTEs: SENSOR POLE DETECTION
NO. NO. LOCATION NOTES
MATRIX 1 8 WB LANE
PROJECT SCOPE
1. INSTALL CONDUIT AND BASE AS SHOWN.
2. INSTALL EQUIPMENT AS SHOWN.
PROJECT COORDINATION HARKNESS AVENUE
1. COORDINATE WORK WITH MARK VOGT, (204) 962-2320, Mark.Vogt@wsp.com.
7. 8.
"1 ——— TS. TIE LINE & T.S. COMM. LINE FROM MAIN ST. @ 9
NOT IN USE,, SEE DWG. S—1764 6.®)
- {1 SBlp) @
B © s
A \I\\
. = — : =X
QO3 ‘
. A
)
=z
<
<C 5.
@
Lol
=
(0’
3. 2. 10,
12.  11.
1.
S 8.
| 3
o o)
N N5 %
\ \ 5
L C = ) &X
- ]
P
<
o By O
Ll
=
- 2
] 10.
3.
‘ 13. EQUIPMENT DISPLAY LEGEND
11.
EXISTING PROPOSED (AS SHOWN BELOW)
_% 12
PEDESTRIAN HEAD VEHICLE DETECTION LOW ARM (SHOWN FROM CENTRE)
T.S. TIE LINE (NO-(F IN USE), \ WITH PCS J AREA @ TRATTICSIGNALHEAD HIGH ARM (SHOWN FROM SIDE)
T.S. COMM. LINE (NOT IN USE ® @ PEDESTRIAN PUSH BUTTON &
& HYDRO TO DONALD ST., % o o TRAFFIC DnEg  APSSINGLE 0 RED FLASHER LUMINAIRE
& HYORO 1O DON comporsox @ [GiflSo. D9 SRS B pmeorov U @ =
\ g ELECTRONIC
- (FiﬁlfssE B Bl woop PosT D))} gEEEACFE?EN DISPLAY ® AMBERFLASHER (© CAMERA
SPEAKERS)
NO. EQUIPMENT LIST ARM |BASE| B.B. | | NO. EQUIPMENT LIST ARM |BASE| B.B.
6. | DAVIT 12| G | GD
SERVICE TO STRADBROOK AVE.,
SEE DWG. S—1846
T.S. TIE LINE & T.S. COMM. LINE TO STRADBROOK AVE.
NOT IN USE, SEE DWG. S—1764
INTERNAL REVIEW
OPERATIONS:
DATE INITIALS
LAB: TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
REQUIRE IFC DWG? DATE INITIALS
TIMINGS (NITIAL) PROPOSED (4% SHOWMN SELOW) oL souARe )"
TIMINGS (PRE-IFC): 11/2" PE CONDUIT S POLE BASE e TYPE"A"- 8 1/8" ’ ~
NEW TIMINGS? DATE INITIALS TYPE "B" -6 3/4"
e: PLAN VIEW: UNDERGROUND CONSTRUCTION 2" PE CONDUIT ——— WD POST o TYPE "C" 6 11" SCREW TYPE oS
DATE INITIALS . 4" PVC CONDUIT e VG et e e CONTROLLER BASE TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
UNDERGROUND CONSTRUCTABILITY: 1:250 TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
DATE NTALS AERIAL / BURIED CABLE =~ — — — — PEDESTAL BASE F TYPE "POD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS, 28" DIA.
STREET LIGHTING: CONDUIT STUB J— TERMINAL BASE TYPE "E" - 9 9/16" SCREW TYPE
DATE INITIALS TYPE "F"-99/16"
TRAFFIC MANAGEMENT: BREAK-IN - SERVICE BOX (PIT) O TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
DATE INITIALS SPLICE = - — 24" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
) A TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
30" PRECAST PIT TYPE "H" - 9 7/8" SCREW TYPE
SAW-CUTLOOPS 36" PRECAST PIT <> TYPE"I"-7 3/4"
TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % REMOVAL y R TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION A.B. PENDING (& THE CITY OF \;\/ I | \] | QIPEG
VALVE ® SIDEWALK WOOD POLE oW PENDING DESIGNED BY /—\
SHUTOFF VALVE o>‘ CURB & CURB RAMP - — STREET LIGHT o UNDERGROUND STRUCTURES ID DATE (vvyymmiop) Wo ° PU B L I C WO RKS DEPARTM ENT
SEWER 300 SEWER WARNING TILE ] BANNER POLE o PENDING AB. PRELIMINARY lnmpeg TRANSPORTATION DIVISION
DRAWN BY
MANHOLE Q CULVERT E : : : : : : : RAILWAY POLE m #L’?\EBDlll(_EIlIZ_ E\lll:sc)cékﬂﬁ'lrll\gEER,\cl)sllllECDEFoR YOUR CONVENIENCE HEREIN NOT FOR
WATER & WASTE REVIEW ID UNITS:
CATCH BASIN D BUILDING 777777 GUY-WIRE % C H - :?ii’%afﬁ%g%.r :%E’:LTID{-W:T_‘ZEIJT_%EHESC;TYBEE%E%N:%E&E‘E}UjEgiv;/:l?EE CONSTRUCT' ON ALL DIMENSIONS ARE IN METERS
X X NOTE: UNLESS OTHERWISE NOTED
CURB INLET v TREE @ FENCE LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHECKED BY INFORMATION. THE INFORMATION SHOULD BE USED FOR PLANNING TRAFFIC SIGNALS
HYDRO 100 GAS INFORMATION AVAILABLE. BUT NO GUARANTEE IS GIVEN THAT ALL EXISTING UTILITIES ARE PURPOSES ONLY AND SHOULD BE VERIFIED BY SURVEY. THE :
HYDRO — — crs GUARDRAIL SHOWN OR THAT THE GIVEN LOCATIONS ARE EXACT. CONFIRMATION OF EXISTENCE AND DEPARTMENT = SHALL NOT IN ANY 'WAY SUFFER ANY LIABILITY HARKN ESS AVE- & RIVER AVE . DRAWING NUMBER:
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A lSSUED FOR INTERNAL REVIEW 2023/03/09 A.B. WHATSOEVER TO ANY PARTY FOR INJURY, LOSS OR DAMAGES S 1 838
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By ﬁggLEiﬁf’s?,:F%UwaHA%RJY ARISING FROM THEIR USE OF, OR RELIANCE -
. (YYYY/MM/DD) APPROVED BY , .



AutoCAD SHX Text
250 WM (ABAND.)

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
BUSH (TYP.)

AutoCAD SHX Text
W

AutoCAD SHX Text
UNKNOWN VAULT

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
T.S. TIE LINE & T.S. COMM. LINE FROM MAIN ST. NOT IN USE,, SEE DWG. S-1764

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE), T.S. COMM. LINE (NOT IN USE) & HYDRO TO DONALD ST., SEE DWG. S-1764

AutoCAD SHX Text
T.S. TIE LINE & T.S. COMM. LINE TO STRADBROOK AVE. NOT IN USE, SEE DWG. S-1764

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
10.

AutoCAD SHX Text
13.

AutoCAD SHX Text
12.

AutoCAD SHX Text
11.

AutoCAD SHX Text
SERVICE TO STRADBROOK AVE., SEE DWG. S-1846

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
600 SEWER INTERCEPTOR

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
1500x1000 SEWER

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
450 SRS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
1500x1000 SEWER

AutoCAD SHX Text
600 SEWER INTERCEPTOR

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
200 WM (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
375 SRS

AutoCAD SHX Text
250 WM

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
200 GAS

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
R

AutoCAD SHX Text
3.

AutoCAD SHX Text
6.

AutoCAD SHX Text
9.

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
C

AutoCAD SHX Text
WB

AutoCAD SHX Text
1.

AutoCAD SHX Text
EB

AutoCAD SHX Text
PB

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
10'

AutoCAD SHX Text
5.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
10.

AutoCAD SHX Text
12.

AutoCAD SHX Text
11.

AutoCAD SHX Text
10'

AutoCAD SHX Text
PB

AutoCAD SHX Text
10'

AutoCAD SHX Text
10'

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
NB

AutoCAD SHX Text
SB

AutoCAD SHX Text
SB

AutoCAD SHX Text
P

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
10'

AutoCAD SHX Text
NB

AutoCAD SHX Text
P

AutoCAD SHX Text
8'

AutoCAD SHX Text
EB

AutoCAD SHX Text
PB

AutoCAD SHX Text
P

AutoCAD SHX Text
16'

AutoCAD SHX Text
WB

AutoCAD SHX Text
PB

AutoCAD SHX Text
10'

AutoCAD SHX Text
SB

AutoCAD SHX Text
NB

AutoCAD SHX Text
10'

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
12'

AutoCAD SHX Text
(150°)

AutoCAD SHX Text
3.

AutoCAD SHX Text
6.

AutoCAD SHX Text
9.

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
A

AutoCAD SHX Text
PB

AutoCAD SHX Text
EB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
HARKNESS AVENUE

AutoCAD SHX Text
RIVER AVENUE

AutoCAD SHX Text
HARKNESS AVENUE

AutoCAD SHX Text
RIVER AVENUE

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
1.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
336 CABINET/170 CONTROLLER

AutoCAD SHX Text
11.

AutoCAD SHX Text
HYDRO MH #RV-16

AutoCAD SHX Text
12.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
13.

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
2.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
3.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
4.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
5.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
6.

AutoCAD SHX Text
G

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
7.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
8'

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
8.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
16'

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
9.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
10.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DISCONNECT PEDESTAL

AutoCAD SHX Text
SERVICE: FOR S-1846

AutoCAD SHX Text
TIE LINE WEST

AutoCAD SHX Text
WB LANE

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
8

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT AND BASE AS SHOWN. INSTALL CONDUIT AND BASE AS SHOWN. 2. INSTALL EQUIPMENT AS SHOWN.  INSTALL EQUIPMENT AS SHOWN.  PROJECT COORDINATION 1. COORDINATE WORK WITH MARK VOGT, (204) 962-2320, Mark.Vogt@wsp.com.COORDINATE WORK WITH MARK VOGT, (204) 962-2320, Mark.Vogt@wsp.com.

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
GD

AutoCAD SHX Text
12'


	Sheets and Views
	A1


